During his annexation of Afghanistan, who

invited Babur to invade India?

(a) Ustad Ali
(b) Mustafa

(¢) Daulat Khan
(d) Hasan Khan

- Who is the author of the book “Death in

Banaras”?

(a) Meena Kaushik

(b)- Jonathan Parry

(¢c) B.D. Tripathi

(d) Ron Barrett

- Which one of the following pairs is not

correctly matched?

(a) Bleaching - Calcium
powder oxychloride
(b) Plaster of Paris - Calcium
bicarbonate
(¢c) Washing Powder - Sodium
carbonate
(d) Baking Soda - Sodium
bicarbonate

. Match List-I with List-Il and select the
correct answer using the code given below the

(a) ST Ah
(b) H¥IET

(c) =rea @
(d) & @™

2. " T TIRG’ [P D AE@D B &7

(a) = BfE
(b) rERE
(© NIAH Hud
(@) ¥ NRe
3. fyefefaa @i § § o9 @ wE gafem
él &2
(a) =hfeim g9s — Bfowrmm  aifeh
TARTES
(b) @R I — Dfewrmw
R qgHETT
(c) dif¥T gy - wifsaw sEke
@ IFTHEer -~ afREw
qIEHEE

4. g1 B TA-1 ¥ Piew AR e

gfgai & A Ry 17 fig 4 ¥ IS

lists — gy —
List-I List-II '\‘ﬁ’f-l 'q_ﬁ’l-]_l
(Provinces of (Capital (sireeferar & wia) UECIE]
Australia) city) eR)
A New South Wales 1 Brisbane A = WY I 1 fawas
B  Queensland 2  Sydney B ddigdls 2 fieh
C Victoria 3 Perth Cc fageiRar 3 uef
D Western Australia 4 Melbourne D uf¥esf sireferar 4 deart
Code - ie' -
A B C D A B C D
(@ 1 2 3 4 (@ | 2 3 4
() 1 2 4 3 () 1 2 4 3
(c) 2 1 R 3 (© 2 1 4 3
d 2 1 3 4 @ 2 1 3 4
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> correct answer using the code given below the S -1 wa-n ¥ gafea g aen
lists — o & 99 Ry 1w @ ¥ W@ S
| List-I List-IT gy -
(Organisation) (Establishmep¢ a1 11
Year) (Hra7) (warg=r )
T Lalit Kala 11958 = A | Sfera werr 1. | 1954
Academy o
B. | Sangeet Natak [2.]1952 ——
Academy : eH 2. | 1952
C. | National 3.[1959 T
School of C |<sfa sca | 3. | 1959
Drama f
D. | Centre for 4.1 1979 = '
Cultural D. | wipias 4. [ 1979
Resources and HEEE Uq
Training wfdverr d%
Code - THe —
A B C D A B ¢ D
@ 1! 2 3 4 @ 1 2 3 4
® 2 4 1 3 ® 2 4 1 3
© 4 3 2 1 © 4 3 2 1
@ 3 2 4 1 @ 3 2 4 1
6. Which of the following Tiger Reserves is_not . frefafaa am sarvg (@R Rad) #
situated in Madhya Pradesh? }q FH—a1 F=guey i g q_'gf 2?7
(a) Amangarh (@) 3IFTTS
(b) Bandhavgarh (b) aEETE
(¢) Kanha (¢) Tl
(d) Sanjay-Dubri (d) m_ga'a
7. Which one of the following coal based power frafafea F @ a9 W Hraer i
plant is situated in Uttar Pradesh? forelt waw Suvwew # R 27
1 Darlipali 1 Sreigrel
2 Dadri 2 qred
3 Singrauli 3 Rimden
4 Vindhyachal 4 femmae
Select the correct answer using the code given 4 Ry U FE A G SR gf g —
below — aig —_
Code - (a) 13R3
. o s
and 3
(© 23R4
(c) 2and4 & s
@ 3and4 e
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8. Which of the following is pot correctly 8. fy=fafua 4 ¥4 o & wafera =8 &2 l
matched? -3 ‘,
(Animal) (Breed) (@) () !
(a) Cow - Deoni (@) Mg - 2T }
(b) Goat - Barbari (b) T&HA - AEq
(c) Buffalo - Bhadawari (© ¥ - s
(d) Sheep - Gir @ s - fir
9. Match List-I with List;g and s;le;.ct lﬂe 9. A1 & -1 ¥ gafera HRmw e
correct answer from the code given below the X
et et & A Ry 1y g7 § ¥ SW w
List-I List-II g9 g —
(Books) (Author) a1 I
A. | Ras 1. | Vrindavan i
Panchadhyayi Das (gw®) (ra)
B. | Chaitanya 2. | Jayananda A. |30 garem | 1. | 9grad s
Bhagvata 3 ;
C. | Chaitanya 3. [ Nand Das = e 2
Mangal C. | da=g wre 3. | 7% T
D. | Bhakti Ratnakara | 4. | Narahari D. | e TR | 4. | FRER wwaar |
Cakravarti
Code - b
A B C D A B C D
@ 3 4 2 1 @ 3 4 2 1
(®) g ? ; ‘: ®. 2 3, .4 1
(© 9 3. .1..2 .4
da 4 3 | 2 @ 4 3 1 2
10. Which one of the following groups of diet  10. fy=ifafaa ¥ ¥ H—wr sMER WiE w9 &
provides maximum energy to human body? TR T afrFan Sot yg= Har 27
(a) Fat, Protein, Vitamin (a) w1, W, fefs
(b) Vi(amin. Mineml. Water (b) ﬁz‘ﬁ:" a'avl' \—ﬂa
(c¢) Carbohydrate, Fat, Protein (c) wrEEESe, a9, WM
(d) Carbohydrate, Protein, Vitamin (@) wratergge, WéF, e
11. Who among the following Indian leaders 11. HET MaHw WA ¥ AT o9 Il ARATY
participated in all the three round table f=fafae Sarl 3§ a5 o
conferences? .
(a) HETT TR
(a) Mahatama Gandhi
(b) B.S.Munje (b) 9. T g
(¢) Dr. B. R. Ambedakar (¢) =i 9. IR IyATHR
(d) C.Y. Chintamani d) 1. . Rramafr
51-B
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12. fefafag 3§ 9 @19 9 29 9fes W 3

12. Which one of the following countries is not
situated along the coast of Baltic Sea? e W feya 78 &7
(a) Latvia and Poland (a) ety 3R qrefs
(b) Latviaand Russia ) arafa 3R =
(¢) Sweden and Russia © e R =9
(d) Sweden and Norway @ e aite =g
13. Which of the following state had won 13. fir=ifafaa & 9@ f&a U A ART B
maximum number of medals in India skills 2021 wferafrar ¥ waw AfRE uTE i o
2021 competition, the result of which was g aRvm HIRG TXHR GRT WA 2022
declared by Government of India in January ¥ ofe far ar?
20227
(a) Gujarat (a) o
(b) Maharashtra (b) WERTS
(¢) Kerala (¢) &
(d) Odisha (d) anfewm
i4. With reference to the ‘Trishul Peak in 14. Ry # e R & wof 3
Himalayas’, which of the following frefafad ¥ ¥ o 91/ U9 68 8 /87
statements is/are correct? (1) U6 STWES B arear. et #
(1) Itis situated in Bageshwar district of fRera &1
Uttarakhand. (2) TE 9E 7500 Hex | A AfoE S
(2) The peak is more than 7500 m high. 2
Select the correct answer from the code given My Ry 7Y T A §E I gﬁq i
below —
Code - =
(a) Onlyl () Whwa
(b) Only2 () Fr2
() Both1and?2 © =t 1siR2
(d) Neither 1 nor 2 @ T 1R 2
15. Which one of the following is not a 15. f=fafua ¥ § @9 w why gRRufa®
sub-category of terrestrial ecosystem? T BT ITHAT TE B?
(a) Mountain ecosystem (@) uwda TRRefs 43
(b) Marine ecosystem ®) WrTT TRRRE T
(¢) Lowland ecosystem © fre v aRffE o5
(d) Semi-arid ecosystem @ g ot
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With reference to India’s Third National
Water Awards declared in January 2022,
which of the following statements is/are
correct?
(1) Uttar Pradesh was declared winner in
the ‘Best State Category’.
(2) Muzaffaragar in Uttar Pradesh was
declared as the best district in “North
Zone Category'.
Select the correct answer using the code given
below -
Code -
(a) Only!l
(b) Only2
(c) Bothland2
(d) Neither 1 nor 2

Part IX — A of the Constitution of India gave

16.

16. Sad 2022 A Wit ¥R & TR sy

17.

el RESR @ vt A, FrEfaRed | @ @y
[/ dUT HE B/ E?

(1) SOoRY & wdHs I Al §
facrar wifte fsar 7|

(2) TEHEY B FOUHEIR BT
i Aot 3 wdAe e wifta

(¢) =ET13R2
(d =arlRard2
m%ﬁmﬁmm-gﬁ,ﬁﬂ%@a

17.
a constitutional foundation to the Local Self a5 1 W |gIrEH THIEAT P
Government units in the following areas - waefae aR ge fFar —
1. Rural areas 1. Trfor &85
2. Urban areas 2. IEY &F
Select the correct answer from the code given 41 Ry MY TE W wE SR BT T AR
below the lists : e —
Code - >
(a) Only1 (@ a1
(b) Only?2 (b) ®Hga 2
(©) Both1and2 (c) 130 2
(d) Neither 1 nor2 (d) =@ 13k TE2
18. Which one of the following is a bio-diesel ~ 18. fr=ifeiRad ¥ & @¥—wr1 Ha—Srorer drar 87
plant?
(a) Jatropha (a) AT
(b) Java Grass (b) GiTET WY
(¢) Rosha Grass (c) rem EE
(d) Guggul (d) T
19. Mandsaur — Prashasti presents the details of 19. #F=UR — WoRa fFa wae & Suafaar
the achievements of which ruler? &1 faver uxga Har 272
(a) Skandagupta (a) =«
(b) Chandragupta-II (b) T=IW ~11
e o e
B @ TR -1
[52-8] Page 6 of 32 Ty
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20. With reference to ‘Parvati Arga’ Ramsar site,
which of the following statements is/are
correct?

(1) It is situated in Gonda district of
Uttar Pradesh
(2) Itis a bird sanctuary.
Select the correct answer using the code given
below -
Code -
(a) Onlyl

(b) Only2
(c) Both1land2

(d) Neither 1 nor 2

21. The first Krishi Vigyan Kendra was 21.
established in 1974 at which of the following
place?

(a) Chandigarh
(b) Nagpur

(c) Hyderabad
(d) Pondicherry
22. Uttar Pradesh has secured which place in  22.
Swachh Survekshan, 2021?
(a) Fourth
(b) Third
(¢) Sixth
(d) None of the above

23. Which one of the following river basin is the  23.

20. WEH s WWER WA B owaf iy

Prefafag § | @ /9 AT wH 2,

&

(1) T IR ¥ B MUST R # Rergy
21

() T @ e AN B

A Ry Ty HE W FE S gAY —

a,‘?—

(a) a1

(b) g 2

(0 =i 13R2

@ =ar1dRATH2

1974ﬁm.§ﬁﬁ§lﬁ$'_&'aﬁwmm
Prefefag ¥ @ fpa T W) g8 o7

(a) qUSITe

(b) TR

(c) BeXEE

@ uifead

e WAEOT 2021 ¥, SR WRYW A BT
I wre faar «ar?

(a) e

) &=

(c) war

(d) Sudad ¥ | HIg TEl

fFrafafea § @ o @ = ot @QRF)

largest in area? aFGA ¥ WaH q9 27
(a) Kaveri (@) HEH
(b) Mahanadi (b) HEES
(c¢) Narmada (©) ey
(@) Tapd @ arh
(51-B] ragediolaz TR T
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Match list-1 with list-II and select the correct
~. answer from the code given below the

lists —
List-I List-II
(Name of (Area of
Scientist) work)
A Birbal Sahni 1 Green
Revolution
B K.C.Mehta 2 Embryology
C  P. Maheshwari 3 Paleobotany
D M.S.Swaminathan 4 Plant
pathology
Code -
A B C D
(a) 1 2 3 4
(b) 3 4 2 1
(c) 2 1 3 4
(d) 4 3 2 1

25. ‘Utar Pradesh Diversified Agriculture
Support Project’ (UP DASP) was sponsored
in Uttar Pradesh by -

(a) Govemment of Uttar Pradesh

(b) Central Government
(¢) World Bank
(d) None of the above

26. ‘Krishak Samridhi Aayog’ was established in
Uttar Pradesh in which of the following year?
(a) 2016
(b) 2017
(c) 2018
(d) None of the above
27. With reference to Sher Shah Suri, which of
the following statements is/are correct?
1. He was the architect of a brilliant
administrative system.
2. However his qualities as a ruler were
not more remarkable than his victories

on the field of battle.
Select the correct answer from the code given

below -
Code -

(a) Onlyl

(b) Only 2

(c) Both 1 and?2
(d) Neither I nor 2

24. gd-1 & n W gifera g e
qfaat & Ry Ty BT W ) S F
gq g —

-1 -1
@snfe @1 =) (@rd &=)
A dRaw wer 1 it
B &. Wl ¥'an 2 yor fRem=
C 0 #Rvad 3 ofraren gawfa
Rsm= |
D THUHE W@HHE™E 4 9RY AT
fasm
az\z'_
A B (o] D
(a) 1 2 3 4

- (b) 3 4 2 1
(©) 2 1 3 4
(d) 4 3 2 1

25. SR WM # ‘Swr waw pf @R
qREerET (g, erm) wrafn B TE -

(a) T VY IR &N
(b) D% WHN &N

(¢ fawg d@ g1

@ S § @ g T

26. SR WS ¥ FED W& AT B WG
fPrfafaa 3 @ fra ad # g8 47
(a) 2016
®) 2017
(c) 2018
@ suda § A B TE
27. RuE g & wel ¥ FeEfafea § @
Fa—a1/? duT wE 8 /&7
|. 98 UH UFER WEfE e @

fomfar 2|

2. wifF O NS D WY A SAD 0,
g @ i W ST o 9 3w
Jeeraa TE A |

M e 77 FHE W W SN BT G4H

Hifre —

@—

(a) Pad 1

(b) PadA 2

(c) 13k 2 S

(d AaI3IRATE 2

&

[51-B]
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28.

At which one of the followfng places was

28, el 2022 ¥ Fr=fafEa # | FE wrm gy

India’s first ‘Open Rock Museum’ YRa @ uUgd Agd Ad WABEW @
inaugurated in January 2022? ST fasan ar :
(a) Dehradun @) e -
(b) Nanital () Fhara -
(¢) Hyderabad
(@) Mount Abu z;; g "Wi:
29. Who built the mosque “Qila-E-Kuhna" inside  29. fiecht @ g el & HIR TN AR
Purana Qila of Delhi? “Rper—g—ger @1 fwter e far e
(a) Humayun (a) &Y
(b) Sher Shah (b) IRAE
(¢) Akbar (c) 3ar@ax
(d) Shah Jahan @) SESTEl
30. As per the ‘India State of Forest Report  30. ‘gfear we 3% wRee RAE 2021 &
2021, how many states/union territories have AN, oy <ol /@ W gt
over 33% of their geographical area under S Hmfere &3 BT 33% ¥ IRE SEwe
forest? 7= st 87
(@ 07’ (b) 13 (@ 07 (b) 13
(© 17 @ 23 © 17 @ 23
31. Who among the following athletes was 31. fasgmx 2021 ¥ frafafaa 3 9 ﬁ;‘wﬁ TIEH
declared ‘Athlete of the year 2021" by the ufyeT BT g % T $AX 2021° Wiftq
Time Magazine in December 20217 fapar Tar?
(a) Caeleb Dressel o (@) Wod A
(b) Lewis Hamilton b) Tgw Bfee
(¢) Neeraj Chopra (¢ o AGST
(d) Simone Biles @ frEr aed
32. Consider the following events and arrange  32. frefafa geameil tR REar Y aur 5=
them into chronological order - HIHAIGAR FART am:'i_
(1) Establishment of NABARD (1) “mEE BRI (32)
(2) Bank linkage programme of self help (2 @@ wEEda WE B d6 il
group FHTHHH
(3) Kisan Credit Card Yojana @) frar Bfde &€ o (9%
(4) Establishment of Regional Rural @) &g grfior §6 o WA @S )
Bank e —
e \ @ @, @3 G)
::: (:)'“)' (:; “": fl; ™ @), @), 3) M)
» (2),
. @, Ban © (1),(2),(3)3M@)
(©) (1),(2),(3)and (4) o e
@ (@), (3). @ and (1) @ D@8
Page 9 of 32 00 R
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33. With reference to the India’s National Youth
Festival organised in January 2022, which of

the following statements is/are correct?
(1) This was 20" edition of the National
Youth Festival. ,
(2) It was organised at Pondicherry.

Select the correct answer using the code given

below -
Code -
(a) Onlyl
(b) Only2
(¢) Bothland2
(d) Neither 1 nor2

34. Government of India has passed ‘Protection
of Plant Varieties and Farmers Right Act’ in

which of the following year?
(a) 2001
(b) 2005
(c) 2015
(d) None of the above

35. Which one of the following city was not

among the top three positions in the
Sustainable Development Goal Urban Index
and Dashboard 2021-22 declared by the NITI
Aayog in November 2021?
(a) Coimbatore
(b) Chandigarh
(¢) Indore
(d) Shimla
36. The National Development Council was
formed in the year -
(a) 1950
(b) 1952
(c) 1954
(d) None of the above

33.

34.

35.

TN 2022 ¥ AR WRA & IKAT

m%mﬁ,ﬁwﬁmﬁmm%

U HE 2/ 87

(1) @& UShA A "EEd @ 2040
HEHRT ol |

(2) TUST I ggAd ¥ fear

or |
N Ry T e § 98 SR & oA
Hforg —

qe_

(a) &g |

(b) @ae 2

(c) @13k 2

d F@Ia3iaTH2

AR PR A WeawE AT wie WA
we Y wge sffy Aefatea ¥ @
fra af # gia fsar?

(a) 2001

(b) 2005

(c) 2015

(d) Sudad ¥ | PIg TE

Tdqe 2021 § Ay @ g™ Af¥a waa
e @e W wEee IR e
2021—22 ¥ fa=fafaa ¥ ¥ @19 a1 wey 9
N = # e 78 ar?
@) TR

(b) dITE

(¢) &R

(d) Rmar

36. U RAE gRET BT TS ..o d I

or|
(@ 1950%.
(b) 1952%.
() 1954%.
(d) Sefa ¥ | B TE

37. The headquarter of Small Industries 37. 9RdM &Y va faem 4@ (Rrsdl) @
Development Bank of India (SIDBI) is ey frefafaa § @ e wr w Rem
located at which one of the following place? 27
(a) Kanpur

(b) Lucknow & mm
(¢) Ghaziabad ®)
(d) None of the above © MR
@) SugF H § BE T
[51-B]
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38. ‘Ringelmann Scale’ is used to measure the
density of the following -
(a) fog

(b)
(c) polluted water

(d)

39. With reference to a book, the following
information’s are given -
(1) Introduction
(2) Contents
(3) Chapters
(4) Index
(5) Title
Select the correct logical arrangement from
the code given below :
Code -
(a) 1,3,5,2and4

(b) 2,4/1,5and 3
(©) 52,1,3and4
(d) 3,5,1,4and2

noise

smoke

40. Which one of the following Scheduled Tribes
is not found in Varanasi district of Uttar
Pradesh?

(a) Chero
(b) Gond
(¢) Kharwar
(d) Sabariya
41. River Ganga enters in Uttar Pradesh from
which district?
(a) Bijnor
(b) Meerut
(¢) Saharanpur
(d) J.P. Nagar
42. The Provision of a joint sitting of both the

Houses of Parliament is mentioned in the
Constitution under the following Article -

38. ‘fyer wor @1 warT FrfaRes & gam
A F g & — )
(a) HIEA
(b) w@fy

(c) wgfda o

d) i
39. vy fpam @ wed ¥, Prafafaa @A §
LUER-E
(1) uxma-r
(2) fawa g
(3) =A™
(4) SrFHAOTHT

(5) i®
99 fay g wme | W Ofde Hawr &

qgq PIIT —
ai:::) 1,3,5,2 3R 4
®) 2,4,1,53R3
(© 5,2,1,33R4
@ 3.5 1,432
40. Prafafaa § | @ W@ sggfaa S
Sy @ aRord fra F T8 uig Wil 27
(a) O
(b) TS
(¢) WER
d) w=Rar
41. T 99, SR w2y ¥ fhw oMug W 9AY
T 87
(a) fasER
(b) B
(c) WERAYR
(d) <9 TR
42. ifur @ A=l see @ siatfa @O
@ T el @ wga e &1 9rEET
&

(a) 100 (@) 100
(b) 108 (b) 108
(). 110 (€) 110
(d) None of the above (@) Suag § § 12 el

Page 11 of 32
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43. Who among the following was not a great
entity in the field of Hindustani music?
(a) Raja Mansingh Tomar
(b) Tansen
(¢) Sadarang — Adarang
(d) Mal Gurjari

44. The Provision of three legislative lists is
found in the following Schedule of the

Constitution -
(a) VI

(b) VI
(c) VII
(d) None of the above
45. Who was not the initial member of the

‘Naujawan Sabha’ formed in 19267

(a) Ambika Chakravarii

(b) Yashpal

(¢) Bhagat Singh

(d) Chhabil Das

46. With reference to ‘EASE-Index’, which of
the following statements is/are correct?

(1) It is a way to measure the
performance of the Public Sector
Bank.

(2) It measures the ease of doing
business for MSMEs in India.

Select the correct answer using the code given
below -

Code -

(a) Only1

(b) Only2
(c) Both!land2

(d) Neither 1 nor2

43.

45.

46.

frafafea 3 @ 29 fRrgar! Wha S8y
¥ e fpgfey @8 on?

(a) T AEARE AR

(b) A

(¢) WERT — IAERT

(d) =& A

wra @ wfaar @ Prefefae g § O
faer gftri 1 graa & -

(a) V1

(b) Vvl
(c) VIII

(d) Sofa § B TE
1926 ¥ Tf¥a “AoEE WA B ARG AE™

Caul jﬁ oq7?

(a) iftat Tmad
(b) TIITA

(¢) arde

(d) vd T
o gEeie @ wed ¥, ek

FoEr F B W/ UA 98 8 /87
(1) uE e & & I3 B weeE

BT ATBferd FT BT Uh QBT B
(2) & 9Ra ¥ IUHUAE. ¥ AUR
—YTHRIT B STTBfers BT £ |
9 RY 717 e § 98 SR B gAY —
W-
(a) @ad 1
(b) @ad 2
(¢) =TI 2

(d IR H 2

[51-B]
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47.

48.

49.

50.

sll

Which vitamin is soluble in water?
(a)
(b)
(c)
(@)

Vitamin ‘A’

Vitamin ‘B’

Vitamin ‘C’

Vitamin ‘D’

Which one among the following is measured

by Dobson unit?
(a)
(b)
(c)
(d)

Ozone concentration
Thermal conductivity
Soil moisture
Radiation

Who among the following was the President
of the *All India Trade Union Congress’ in
1929?

(a) M. N. Roy

(b) Jayaprakash Narayan

(c) Jawaharlal Nehru

(d) S. A.Dange
Lake Balkhash is situated in which one of the
following countries?

(a) Kazakhstan

(b) Kyrgyzstan

(¢) Russia

(d) Turkmenistan
Arrange the following Mesolithic sites

geographically in order from west to east —
1. Paisra

47.

48.

49.

50.

51.

a1 et wia § gerda @2

(a) RefdT ‘A

) ferf= ‘B’

(0 RefT

@ R D’

S gord A PRI ¥ qur g,
e 87

(a) i A=A

(b) EIE TraHdl

© TR

(d) fafRoT

Preffaa § | B 1929 # ‘ST sivefy
g-gqﬁuq?ifﬁ'ﬂ'ﬁ?m?}?
(a) TA. G A

(b) STEUHT AR

(¢) TIATERATA TG

(@ THE T I

arepTe e PR 29 ¥ ¥
fRerer 87

(a) HofEwA

m) ffifswm

() w9

(d) goAtrE

r=fefaa w=gumafes wral & Sifaes
gfie A a¥ew @ qd @ o9 § afea H3-—
1. s

fg ¥

2. Lekhahia 2. wafea
3. Birbhanpur 3. dREFEYR
4. Mahadaha 4. HET®T
Select the correct answer from the code given ™ Ry 717 $e F 98 SR & 99T Hifdre—
below — HE — _
foadio: @ 4,2,3 3R 1
(a) 4,2,3and]1 ® 1.4.3 a3l 2
(b) 1,4,3and2 © 4.2.13R3
() 4;2,Lang3 @ 2,4,1 3R 3
@ 2.4,1and3
(51-B] POt O 0 Ol

D



52.

Match List-1 with List-Il and select the
correct answer from the code given below the

52. -1 ahvg:ﬂ-nﬁg#ﬁamvmm
Rata @ AR Ry 1y g | v I 9T —
List-1 List-IT -1 5 it 1§
(A) Vitamin 1. Pepsin (A) fefim 1. ufees
(B) Enzyme 2. Carotene (B) vYugH 2. IAEA
(C) Hormone 3. Keratin (C) wmH 3. dEH
(D) Protein 4. Progesterone (D) W= 4. wrofeRE
Code - HE —
A B C D A B C D
(a) 1 2 3 4 (a) 1 2 3 4
(b) 1 2 E 3 (b) 1 2 4 3
(c) 2 1 3 4 (c) 2 1 3 4
(d) 2 1 4 3 (d) 2 1 4 3
53. Match List-1 with List-Il and select the 53. —-1 @ -1 ¥ gafera A T=l
correct answer using the code given below the gfomt & i Ry ¢ 7 | [E SR BT
lists - a4 mq =
List-1 List-11 "'I.‘h_l WH
(Place) (Related () (erafere drfav)
Tirthankar) A | smaed 1. | s
A. | Shravasti 1. | Rishabhanath B. | 31 2. | agEg
B. | Kakandi 2. | Padmaprabhu ST
C. | srarem 3. | gfaarmy
C. | Ayodhya 3. | Suvidhanath D. et 2. | weaa
D. | Pabhosa 4. | Sambhavnath R =
PRREE o el B "k wiBeid, B
@ 3 1 2 4 @ "3 1 2 4
® 2 4 1 3
E:)) 3 g : ; c) 4 3 1 2
@ 3 2 4 1 d 3 2 4 1
54. Which one of the following city was awarded 54. fy=iferfaa # ¥ 59 o W& &1 w@®
a star rating in the ‘Garbage Free Cities’ wdeTor 2021 ¥ TOR YR H HERT YT R’
category in Uttar Pradesh in Swachh ol F wer T | wenfaa fear
Survekshan 20217 (a) 3rinTe
(a) Aligarh ®) m
(b) Gorakhpur ©
(¢) Prayagraj @ :
(d) Varanasi
55. Find the missing number — 55. Rga dE s Afg -
5 5 21 3 Vi 2 9
% 10 1\ & e 0 \ 7/ u\}
’ 3 ¢ .S 3 4
(b) 20
®) 20 i
(c) 28 © 28 Y
d) 32 @ 32 2
[51-B]
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56.

In 1809, Raja Ram Mohan Roy wrote his
famous book “Gift to Monotheist” in which

56. 1wgﬁ,mmmmﬁmu‘m§

T “fige g Ao Frefafe F g

of the following language? e wrar A forar o7
(a) English (a) 3ASh
thi: “Hsd ® 3%
(c) Persian (© R
(d) Bengali (@) e
57. Which one of the following is a plant 57. fy=fafaag 3 @ P9 (@ URY EHA 872
hormone?
(a) Insulin (a) TR
(b) Cytokinin (b) wTECIEEAA
(¢) Thyroxin (c) ensifFa
(d) Oestrogen (d) W
58. Plants accepts nitrogen in which form? 58. Y HTE@GFI @Y fra 9 # T8 B &7
(a) throgen gas (a) BTN T
(b) Nitrite ®) TS
(c) Nitrate (0 =Ee
(d) Ammonia (@ s
59. Match List-I with List-Il and select the . -1 B gA-I A gafaa AR e
correct answer from the code given below the gfoat @ A Ry 70 Hz A 98 I @1
lists — g+ Hfog —
List-1 List-1I -1 -1
(Emperor) (Diwan) (areE) (&)
A. | Akbar 1. | Ghiyas Beg Itmad- A. | 3IPER 1. | frarg @7
ud-Daulah UAHIG—I8 1T
B. | Jahangir Asad Khan B. | sreffie 2. | erie @M
C. | Shah Jahan | 3. | Muzaffar Khan C. | wmewrer ToTEY @
D. | Aurangzeb | 4. Sadullah Khan D. m 4, | wrgeet @M
Code - HE —
A B C D A B C D
@ 1 4 3 2 @ 1 4 3 o
®m 2 3 1 4 ® 2 3 ; 4
© 3 2 1 4 © 3 2 | 4
@ 3 1+ & 2 @ 3 3 4 5
(51.5] IR ML
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60. Which one of the following is not correctly  60.

matched?
(Institute) tio
(a) National Centre of - Ghaziabad
Organic Farming
(b) Indian Institute of - Kanpur
Pulses Research
(¢) Indian Institute of - Gorakhpur
Vegetable Research
Lucknow

(d) Indian Institute of -
Sugarcane Research

61. Ahmed Naser Al-Raisi, who was elected 61.

President of the Interpol in November 2021,
is from which of the following country?

(a) Kuwait

(b) Saudi Arabia

(¢) Turkey

(d) United Arab Emirates

62. Which of the following crop is covered for  62.

price control under the price stabilization

fund of the Government of India?
(a) Wheat
(b) Potato
(c) Rice
(d) None of the above

63. With reference to Commerce, which of the 63.

following statements is/are correct?

(1) Tt is the field of business that assists
in the removal of all impediments to
the facilitation of exchange.

(2) It deals with the factors of delivering
the products to the consumers.

Select the correct answer using the code given
below -
Code -

(a) Onlyl

(b) Only2

(¢) Both!land2

(d) Neither 1 nor2

fre=ifefaa 3 Q@ @19 @ 96 gafera a8i¢?

(wiwerr) (erafRufy)
(a) v e &N - TR
E
(b) AR TETET - BER
. :
(©) ﬂl!iilﬂ'ﬂ’d’t - rmw
(d) HRAG T - TGS
: :

Taa¥ 2021 A g B A I Y IeHg
TaR v, Prafafaa 4 9 fda 2w g
27 '

(@) HIT

(b) HHL IA

() T

(d) YT IRA IHRTT

fafafaa & 4 I Ha [0 Frgser

B TRA WPR @ Tod RIAET Py

s wxféa 87

(@ 7§

(b) 3T

(c) =mEad

(@ Sodw # q I TE

aifre & et ¥, Prefafad wuEt § o

|1/ BUT G B/ 87

(1) % =aarE & &9 § o v
¥ [ETaar &ar g |

(2) Ue SwERI 9% IWRl & faaka
HE D PRO A FRAET B

#ra fag 77 FE A 9& I gy —
a{d_

(a) @ad 1

(b) DI 2

(¢ <Ff13R2

(d) Far 132

[51:8] Page 16 of 32




United Nations General Assembly has
declared the year 2023 as the International
year of -

(a) Oilseed crops

(b) Pulse crops

N

WI\ch one of the following tree is not found

Millet crops
Animal fodder crops

64.

T B T —

14

(d) qg'ﬂﬁimﬂm
Prefafaa # & ST W98 Ty

65.
in the Mediterranean forest? = =% 3 & urar e 87
(a) \ Teak =
® \oax P
(c) (;hestnut e
(d) Olive ::)) i
66. Which one of the following mangrove areas 66, fr=iferfa 3§ ¥ P W1 HU1T &5 Meray
i.? sit;mtcd in the delta region of Godavari 78 @ eer W aferd 87
river
(a) Coondapoor (@) TS
(b) Honnavar ) TR
(¢) Malpe (¢) e
(d) Coringa @ i ;
67. Which one of the following Ramsar Wetland ~ 67. fp=ififtaa # & @1 1 I Iy werer
sites is situated in any state of India? wra @ fd Ieg ¥ Rer 82
(a) Hokera Wetland (a) B A
(b) Point Calimere Wildlife and Bird (b) @rge BIRER THE R weh
Sanctuary ARG
(¢) Tso Moriri Lake () < A9 s
(d) Wular Lgke @ TR A
68. In the event of vacancy in the office of both  68. ufe fHft g wgafay vd Swrgafy =F
President and Vice President, who shall &1 95 Raw &1 @, 7@ wsufa @& a1
discharge the functions of President? HT?
(a) Prime Minister @ wErER
(b) Lok Sabha Speaker (b) SNHEAT eE
(¢) Chief Justice of India (¢) YR & W gy
(d) None of the above (d) F‘TQ'(RT H A PE g
69. The first day of the year 2020 was 69. ¥ 2020 %1 wery fae quaw | af 2021 BT
Wednesday. What was the last day of the year sifm fa=r gar ar?
20217 a) FEwRER
(): Thutsday zbi YHaR
(b) Friday @
(¢) Saturday @
(d) Sunday
5 Fage 17 o132 ML

——y



70. Consider the following events and arrange
them into chronological order —
1 Project Elephant
2 Biological Diversity Act
3 Wildlife (Protection) Act
4 Project Tiger
Select the correct answer using the code given
below -
Code -
(a) 3,4,1and2
(b) 3,2,4and !l
(c) 4,3,2and 1
(d 4,3,1and2

Which of the following is not a part of the
Middle East?

(a) Jordan and Israel

(b) Lebanon and lIsrael

(c) Syraand Lebanon

(d) Jordan and Turkey

71.

71.

(@) 3,4,13R2

) 3,2,43M1

(¢ 4,3,23R1

@ 4,3,13R2 /

Prefafaa ¥ @ @19 A 20 7= 9d 7 Ry
T #?

(@) GifET MR FTIRES

(b) AFAH AR FAIEA

(¢) WRar iRk dAga

(@) it 3w gat

qifarT ¥ oy devs, fFrafafaa § @)

72. Gwadar Port in Pakistan is situated in which ~ 72.
-~ of the following provinces? fsr wier # fRera 87
(a) Balochistan (a) =R
(b) Khyber Pakhtunkhwa (b) W gEETEAT
(¢) Punjab (¢) Y9E
(d) Sindh (@ fHe
73. In 1817, the famous Hindu College was 73. 1817 % 2% B3R gr1 vl Ry Fiawr A
established by David Hare in - g7 B TE off —
(a) Agra (a) R H
(b) Calcutta (b) Fadar A
(¢) Patna (¢) vt #
(d) Varanasi (d) armvRh H
74. How many times the ‘date 29° will fall 74. 1 99a9, 2
> , 2022 A | SEES), 2027 & 9™
between January 1, 2022 and Janu . ,
i ary faf ar 29 a’ gi?
(@ 55 (a) 55
(b) 65 (b) 65
(c) 56 () 56
(d) None of the above (@) Sudw ¥ | P 7
[51-B] Page 18
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75.

Rocket works on which of the following
principles?

(a) Avogadro’s concept

(b) Energy conservation

75.

Preffag 3 & fre RE ® Ade oy

Y 2?7
(a) amanTs gREETAT

‘ A (b) oAl el
. (¢) Bernoulli’s theorem (© aeheh W
(d) Momentum conservation d) WA G
76. Match List-1 with List-Il and select the 76. wfi—1 w1 g0 ¥ G M oy
correct answer from the code given below the g @& 9 Ry T 7E § T IW 1
lists—
g Bifeg—
List-T List-1I a1 - |
(Monument) (Builder) () (Fwtem)
A. | Atala Devi 1. | Nusrat Shah NECGEL] ol LR
Masjid
B. | Chhota Sona | 2. | Tbrahim Shah = Wm A 2. | gnfew wmE
Masjid Shargi | sfeere BT
C. | Qadam Rasul 3. | Sik :
R . apdar Shah c T 3. | fa@eR Ie
ina Masjid, | 4. | Wali 4. | aen g
Pandua Muhammad D. | S o
Code - arg3t
A B C b e - A "B C D
(a) 1 2
® 2 4 1 3 ®»m 2 4 1 3
© 2 1 3 4 © 2 1 3 4
d 1 3 4 2 @ 1 3 4 2
77. Find out the alternative which will replacethe  77. S famed @1 3a g Wl 9 @ g
question mark? BT WA AP
WATCH : 110 :: TIME : ? WATCH : 110:: TIME : ?
(a) 54 (a) 54
(b) 72 b)) 72 SSrz=1le
() 94 (c) 94
FKR-
(d) 98 (d) 98 ‘<
78. Consider the following events and arrange 78. fyifefaa wemii R fur g wem
them i . " D amafea S —
em into chronological order J
. Akbar marries Princess of Amber 1. R B AT | IHR B fare
2. Battle of Tukaroi 2. TERE * 5E
3. Mughal invasion of Malwa 3. HISEr @ Jel HA
4. Karrani's conquest of Orissa 4. IR W HFREA! B fasa
Select the correct answer using the code given ™ Ry 1 Hg § ¥ IR FHT WA
below — Pifere —
Code - e -
(@ 1,2,3and4 2:; ;-2'3 ﬁ“
1,4 3
b) 2,1,4and3 3
™ o (©) 2,4,3 3R 1
(¢) 2,4,3andl @ 3,1,4 3R 2
(d) 3,1,4and2
roge 190132 T
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79. The Aspirational District Pro.grammc (ADP) 79. uRayerrar fRfRgae gm (TI9) Ry
of NITI Aayog was launched in - BITNT W ccconisiosmsomsmammsss ¥ U faar o
(a) January 2016 (a) STEd 2016
(b) January 2017 () SR 2017
(¢) January 2018 (©) S 2018
(d) None of the above @ m 5§ B ’

80. Bhutan conferred the ‘Order of the Druk  80. gr 9 fawww 2021 ¥ Pr=fafaa ¥ 3 sy
Gyalpo’, its highest civilian honour to the 291 @ wurEA B AUl wAed AR
Prime Minister of which one of the following A aifeR sife & §@ e ¥eH
country in December 20217

(a) India (a) ¥RA
(b) Mongolia (b) wmfern
(¢) Nepal (c) =9I
(d) Thailand (@) ergels

81. As per Article 300 of the Constitution of 81, WA @& WRUE @ JIWT 300 P IR,
India, the legal name of the Government of W A WRHR BT BT AH g -

India is - (@) =T gfaa Taie

(a) The Union Government (b) T gfga sife shsar
(b) The Union of India (c) zfvsw ~
(¢) India (d) Rd |
(d) Bharat _

82. Which of the following Article is related to g2. Pfafaa § | BT JWT, TRA B
the appointment of a Finance Commission by refa g fae s @ Fafa @ kg
the President of India? 87

(a) 200 (a) 200
(b) 250 () 250
(c) 280 (c) 280
(d) None of the above (d) Gﬂgﬁ ¥ ¥ Pg T
83. The Parliament of India has the ‘Power to  83. #Rd # wwe @ HrE Ao 3@ oafer
Legislate’ for the following - frefafaa @ fog we 8 —
1. Union of India 1. Rd & §g
2. Territory of India ' 2. WRA B Wew/SuHew (SifafaE)
3. Indian sut?ject resident and. their 3. fawg # wE A e A AR ARe
z,r::::ny situated anywhere in the vd I HRT
Select the correct answer from the code given A faw R %7e o Wy e g —
below - @He —
‘i°d° . @ @ad I
@ Only 1 ®) a1 3R 2
(b) 1 and 2 only e
(¢) 2and3only © ¢ >
(d) 1,2and3 @ 1,23R3
[51-8) Page 20 of 32 LIy



Which one of following city was not among
the top three cleancst citics in more than one
lakh population category in  Swachh
Survekshan 20217

(a) Indore

(b) Surat
(c) Tirupati

(d) Vijayawada
85. With reference to ‘Lake Victoria in Africa’,
which of the following statements is/are
correct?
(I) The lake is surrounded by four
countries.
(2) Itis situated in the African rift valley.

Select the correct answer using the code given
below —

Code -

(a) Only 1

(b) Only2

(¢) Bothland?2

(d) Neither 1 nor2
In a queue of boys, Sohan is 9" from the bac
Ramesh’s place is 8" from the front. Rohit is
standing in between the two. What could be
the minimum number of boys standing in the
quene?

(a)

(b)

(c)

) 15
With reference to trade, which of the
following statements is/are correct?

(1) It represents demand and supply

both.

(2) It deals with only the demand side.
Select the correct answer using the code given
below -

Code -

(a) Only1

(b) Only 2

(¢) Bothland2

(d) Neither 1 nor 2

85.

86, 86,

10
1Z
14

87. 87.

o sessouzaa
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Prefaferr % 9 @ IR T g
2021 ¥ ¢ W@ W ARG AT Aoy
i A gad e TR A W T e

(a) %R
(b) [d
(c) faeufdy
o ' M D Wi
st ¥ fEeRar A
Preferfa % @ P 6/ TAT W@ &/

&

7 sher a9 8 g
g: Ze s @Y urel # Rea &)
A9 fre 77 THE A FE TR BT WG anfg—

af:) Pad 1

(b) a2

(© 012

@ =ar1RTE2

cram 2 U@ dfe #, e WY |/ 9F v
@ ®, e At ¥ 8 W W 8| ARk 9w
2 @ 9 ¥ ) R F @S a@swt W
T GET T B W 87

10
12

(a)

(b)

(¢ 14

@ 15

7R & gy #, Frafafaa syl 3§ @9

/A FUA TE B/

(1) TE #iT 3R gl SE @ sl
B B

(2) TE BIS HIT g&T | wEUA ¥

A Ry v ge d v I g -

m'?_

(a) &ad 1

(b) @ae 2

() =wFEf1air2

@ =Tar sk a2




88. Anubiotics are mostly obtained from - 88. U= qraifeaw sf@iea: W 0 F
(a) Fungi (@) wa@iA
(b) Vuusc.s (b) FamEy @
2, e (© i 3
() Angiosperms _ @) smgedreE A
89. Which of the following is not correctly  89. fp=fafa # & Fr7 v gAfera T8 27
matched? : i
(a) Maize - Tasseling (a) #waPI - TR Preremy
() Groundnut - Pegging (b) el S
(c) Chickpea - Tillering () wgeh g - e P
(d) Tobacco - Topping (d) T - e
90. Which one of the following country was not 90. fr=fefiaa 3 9§ B 9T 2, TG 2022 )
1 part of exercise ‘Sea Dragon 2022" that W HETTR ¥ Y6 8¢ ZErar W $rs
started in the Pacific Ocean in January 20227 2022 3 wnfe T8 ar?
(a) India (a) ¥RA
(b) Japan (b) AT
(¢) Philippines (c) fieindiv
(d) South Korea () afeyor FRar
91. Who among the following was not a 91. freifafag ¥ ¥ &= @Al 9@ A @y
nationalist poet in Pre-independent India? Irarey By 81 ur?
(a) Ranglal (a) TR
(b) Nabin Chandra Sen (b) T4 Tw [
(¢) Hem Chandra Banerjee (© 1 TE T
(d) .Shiv Kumar Batalvi ) fora &R e
92. With reference to ‘Alaska’ which of the  92. ararer @ ded d fFrefafea #9 @
following statements is/are correct? |1/ BIT HEl 2/ 87
(1) It is oil producing state of United (1) TE GYE I IARST T da
States of America. IeqTed I 2|
(2) It was purchased from Russians in @) %9 1867 % wREl § @dar mr
1867. orr |
:e]lect the correct answer using the code given ) ey T g A WA IR gAY —
elow —
Code - €@e —
(a) Only! (2) @ I
(b) Only2 (b) @ad 2
(¢) Both1and2 (¢ <M 13iR2
(d) Neither 1 nor 2 (@@ a1 2
51-B
Sael Page 22 of 32 AT




93.

94.

95.

96.

97.

Who among the following was appointed as
the tenth Chairman of the Indian Space
Research Organisation (ISRO) in January
20227

(a) P.L.N.Raju

(b) V. Hari Prasad

()
(d)
‘Stand-up-India’

C. Jagannathan

S. Somanath

scheme for promoting
entrepreneurship is related to -
(a)
(b)
()
(d)

Minorities

OBC

Handicapped
Women, SC and ST

Which of the following countries from
South Asia attended the Summit for
Democracy hosted by the President of the
United States of America in December 20217

(a) India, Nepal and Maldives

(b) India, Pakistan and Nepal

(¢) India, Sri Lanka and Maldives

(d) India, Bhutan and Nepal

If MET, SET and TET are coded as 52, 76 and

80 respectively, then what will be the code for

PET?
(a)

(b)
(c)
(d)
Which among the following was the first

48
56
64
72

successfully cloned animal?
(@)
(b)
()
(d)

Dog
Rabbit
Gibbon
Sheep

93. wadt 2022 ¥, FrefafEd # ¥ Y wrdy

siaRer srpeiaT €IS (F9R) B TH e
@ v 3 fagaa fear T

(a) . ga. T WOL
() 9. &R awg
(© 9. =
(d) TH. |EARI

94, wufyar @ @@ ¥ ®G A

95.

96.

97.

Rs—arg—zfear wafa 2 —

(a) I A

) N/ A

(¢) framim &

@) wfeen, gL 3R gEA. |/

faermay 2021 3 WYF S IPIRST B wegafy
grT s eedaa @ R w9¥es d
=foor oftrar @ Prefafaa ¥ [ a9 & 27
e ge?

(a) WRd, 9T AR HAALNT

) wRa, g R AT

(¢) WRd, e AR AL

(@) wrE, e AdR Aura

af¥ MET, SET 3R TET & %9 52, 76 3R
80 ¥ e frar wig, @ PET &1 &g @41
BT?
(a)
(b)

[51-B]
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98. What was the disinvestment target for Public 98, wrdwifis &5 @ =i vd @a FwmE &g
Sector Banks and Financial Institutions in the Ba qaoTE 202021 A AFAN T T
Union Budget 2020-217 o?

(a) ¥ 80,000 Crores @) 80.000 TS T
(b) ¥ 90,000 Crores ®) 90,000 TS T
(¢) 100,000 Crores (©) 100,000 IS T
(d) None of the above @ s PENEE

99. Central Institute of Medicinal and Aromatic ~ 99. =7 3ftweflm vd @iy Wl R
Plants is situated at which of the following Preifafaa 3 & fra w91 R 87
place?
(a) Lucknow (a) TETH
(b) Varanasi (b) QTR
(c) Gorakhpur () TRAYR
(d) None of the above (d) Suda i e
100. With reference to ‘Indonesia’, which of the 100. Ferfmr @ |@of 4, Prefafaa 3§ 9 @
?
llowing stat nts is/are correct? 1/ T w8/

" c,mc ; () =@ 15,000 AfE €9 Wi ¥
(1) It comprises of over 15,000 islands. @ w150 X o Thea SaTeTgE
(2) It has over 150 active volcanoes. #)

Select the correct answer using the code given # fRy Ty He ¥ 98 SR gAY —

below — e —

Code - (a) @ad |
(a) Onlyl (b) @ad 2
(b) Only2 (¢) =13k 2
(& Fanlaes @ A IR TE 2
(d) Neither 1 nor2

101. As per the fourth edition of State Health Index  101. f&wwR 2021 # iy AR ERT &N o9
released by the NITI Aayog in December WA AFS B mw-ﬁ, fer=fefaa
2021, which one of the following states Tt A A fFe B ear @ Ao A
performed best among the ‘Smaller States’ wdore yeeE fHar?
category? (@) ar

(a) Goa (b) qﬁgq
(b) Manipur (c) fERH
(c) Mizoram

d) fafawq

(d) Sikkim @

102. Turmeric is an example of underground stem, 102. s fTa @+ &1 JgExor 8, o Fea
known as - g

(a) Bulb o]

(b) Tuber 8 e

(c) Corm ©

(d) Rhizome

@) rEsim
[51-B] ‘
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103. What is cholesterol among the following?
(a) Steroid
(b) Vitamin
(c¢) Enzyme
(d) Insecticide

104. With
Wildlife Sanctuaries in India’, which of the
following statements is/are correct?

(1) Highest number of national parks are
in Madhya Pradesh.

(2) Highest number of  wildlife
sanctuaries are in the Andaman and
Nicobar island.

Select the correct answer using the code given
below -
Code -

(a) Only1

(b) Only 2

(¢) Both1and2

(d) Neither 1 nor 2

105.

103. PreRgia fFrefafad 4 3 a7 82

(a) wRITS
(b) faerf@=
(c) TSRT
(d) FeATaH

reference to ‘National Parks and 104, “Rg ¥ W SaFl (4 T0uflg

& st 1, PRI T 43

W 2/8?
() < Sarl @ WY afy

TR A 2| .

(2 aaraﬂwwmn’faﬁmm
mmwmmm
721

By —

qa_

(a) @ad 1

(b) Had 2

() =132

(d Far1dRTH2

Which of the following two states are the 105. @WrH HaTed B 2020-21 ¥ aIffw R
G Al g of e Moy ey P PRI 4 8 ¥ 8 4 v
; ?
2020-21? ¥ dfgqrge @ WA TARD &
1 Odisha 1 e
2 Andhra Pradesh 2 Ay wlw
3 Chhattisgarh 3 T
4 Gujarat 4
Select the correct answer using the code given A1 QQI’TQ HT A TH IR _
below - s 3‘ T
< (@ 13R2
(a) land2 2
o e © 18R 4
2 Sais (d 23R4
(d) 2and4
106. To reduce the interest payment on the 106. Wil & WX =™ YAF 4R T B ?;g
Electricity sector, which scheme has been ";!;\’H WER A3 B @ Ao aed
launched by the Government of India? (.a)
(a) UJALA Scheme ® wat *q‘mi m‘"
(b) Urja Ganga Scheme e
(¢) UDAY Scheme SEC R
(d)
(d) Saubhagya Scheme HrY g -
Page 25 of 32 T
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107. In the following table, the missing number ‘x* 107, =1 WiRof ¥, ga d&T x & —

is —

4 |6 4 6
8 |x 14 X 14
18 |20 |24 18 |20 (24
@ 9 9
®) 10 M) 10
© 11 (@ 1
@ 12 d 12
108. Which one of the following gases is used in  108. tfehef =y ¥ fy=fefaa ¥ I frw 4y
manufacturing of polythene? T IqANT BT 27
(a) Ethylene (a) ufdeis
(b) Carbon-di-oxide (b) FHT-SE-3iETES
(c) Nitrogen © W
(d) Carbon monoxide ) st
109. According to the Constitution of India, the 109. WRG @ WAwT @ IR, D= @
‘Executive Power of the Union' shall be Frdufee ufa fAr=falReaa & Afga & -
vested in the —
1. President B % _
2. Prime Minister 2,
Select the correct answer from the code given i fg g % W WE SR BT
below the lists : FIferg —
Code - %He —
(a) Only 1 (a) e |
(b) Only2 (b) @aw 2
(c) Both!land2 (© =F1aiR2
d) Nei
(d) Neither 1 nor 2 @ Td1sRTE 2
[51-B]
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110. Match list-1 with list-1I and select the correct
answer from the code given below the

110, -1 1 -1 G DR oy

whwt @ A Ry T T T IR o

lists:
LCistT List-I i .1 CO=Ta
(Minimum (Office/Post) | -
Qualification (~geraH 31g ¢ /%)
of Age) )
g. %; years 1. | President of India
; years 2. | Member of iy
Panchayat A 2_',‘“& L %a'%
30 years 3. [ Member of Staie B [2sad ]2 W"a o
Legislative C.|30ad 3, |34
Assembly Rikial
D. | 35 years 4. | Member of State a9 4. | woa faur
Legislative D. |35 qfRee 9T
= Council
ode - -
A B C D " A B C D
@ 2 3 4 1 @ 2 3 4 1
M 1 2 4 3 ®» 1 2 4 3
© 2 1 3 4 @ 2 1 3 4
@ 4 1 2 3 @ 4 1 2 3
111. Wilh reference to the ‘Galapagos Islands' 111, WeNig HeTEIY ¥ e remarT a'“"ﬁ
situated in the Pacific Ocean, which of the @ wenf #, Prefafad # I |/ FAF
following statements is/are correct? w2/ 87
@)) Thc}y are formed due to volcanic () D Iafer Wﬁfﬂ@ nfafafer &
activity. gRT &% B
(2) They are part of South American (2 A =& aRa Iz 6 @ R
- t(\]z:tion Peru. #)
& : :
bel;:: _ecorrect answer using the code given 4 fRe Ty @E | g I gﬁq -
Code - -
(a) Only | (@) @3« 1
(b) Only 2 (b) @A 2
(¢) Both 1and?2 () = 130 2
(d) Neither 1 nor 2 (@ =ar1sRTEH 2
112. India is the largest producer of which of the 112. WRd WRHR @ FHY WedIT Td fHAT Heamor
following fruits in the world as per the Annual frr @ aiffes RuE 202021 &
Report of the Department of Agriculture Co- wra fAeg # fFrafafRaa 8 ¥ 9 w1 o1
operation and Farmers Welfare, Government [qY TS IAED o7
of India, 2020-21? 1 R
1 Grapes 2 HH
2 Mango 3 A
T e 4. o
apaya
Select the co)rlrect answer using the code given g;?%m M W/ W W IR BT gAA
below — e — =
C(:;()le 1 and 2 (@ 132
(b) land3 () 133
(¢) 2and3 (© 23iv 3
(d) 2and4 @) 23R4
Page 27 of 3
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113.  With reference to the statue of ‘Nataraja the 113. '7eId J& & WM @ o & Had §

Lord of Dance', which of the following
statements is/are correct?
1. The image represents dancing Shiva
having four hands.
2. In his right car, he wears a man’s
earring, a women's in the left.

Select the correct answer using the code given

Frafafan 3 @ 19 @1/ s o /@2

1. @ i 79 T g 9R i A
Rra @1 wfaf e o 8

2. 9 T HF K, 98 TS YOHY BT
ESd Ue €, 9 A ua Afgan &)

#ra Ry Ty @ @ 98 I & 9w A

below :
- =
c-
(a) a4 |
o o ) daw 2
o i a1 i
(¢) Bothland2 © : 8
() Neither 1 nor 2 @ TA1ARTE 2
114. If 44 x 75 = 7454, 83 x 74 = 7348 and 114. IR 44 x 75 = 7454, 83 x 74 = 7348 3R
55 % 48 = 4585, then 14 x 45 will be equal
N 55 % 48 = 4585, @ 14 x 45 qAAX BN —
(@) 4145 (a) 4145
(b) 4415 (b) 4415
(c) 4451 (c) 4451
(d) 4154 (d) 4154
115. As ‘Part’ is related to ‘Whole’, in the same 115. 1§ W&R 90T (Part) €@l (Whole) ¥
way ‘Arc’ is related to, which of the wafia € S §ER AW (Arc)
following? fr=fafaa ¥ @ ey wafa 82
pa (a) &IFA
(b) Chord ®)
(© Circumference (© TR
(d) Segment @) Tvs
116. Il{}ttér Pt'fad;!sh e((llounci! of Agriculural 116. IR ¥a¥ P e Rz Preaferlea 3
esearch is located at which of the following W 5w g ferg 27
place?
(8) Luck.now (a) m
(¢) Gorakhpur ©
(d) None of the above S
(@) Togwa A § @ T8
(51-B] P
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117. With reference to Rhine river in Europe, 117, ¥ e A8 D weof ¥, Frafafem ¥ g

which of the following statements is/are

correct?
(1) Rhine river is an important pathway

1) m:ﬁ;qﬁ'ﬂﬂ‘ﬁ’l?ﬁm

for industrial activity in Northem : HEayf
Germany. ;?ﬁm B TR L
? mouof Rineriver, @ dexdn @ deoTE T 3
elect the correct answer usin i 'ﬁﬁ e Rerd 2
:'elow_ g the code given A1 R o aE & WE IR BT T Fifdrg—
Code - e —
(a) Onlyl (a) @aa 1
(b) Only 2 (b) @ad 2
(¢) Both1and?2 (¢) qf130% 2
(d) Neither 1 nor 2 (@ war 1R & 2
118. With reference to the India International 118, WRAG JfeRfsHd @AMR AaA-2021 & Wk
Trade Fair-2021, which of the following § Prafafaa 3§ ¥ P A/H T A
statements is/are correct? 2/8? _
(1) It was organised in November 2021 (1) Zu®l Ao FaaY 2021 § WER,
at Jaipur, Rajasthan. <roreer= # f&ar T on|
(2) Main theme of the event was ‘@) amaeE @5 fasg ‘arefoaniy
‘Atmanirbhar Bharat', I T |
i:lle::: the correct answer from the code given 41 Ry Ty BT A A TN g —
ow -
a.’.? p—
C(:()le G (@) a1
yl
(b) Only?2 (b) @I 2
(c) . Both I and 2 () T 13k 2
(d) Neither 1 nor 2 (d =arl aite = € 2
119. When was India’s first National Action Plan 119. ¥WRd @ Wi ierarg URad W Ut &4
on climate change released? Ao B He @, fear Tar?
(@) 2012 - (@ 2012 —
(b) 2015 ®) 2015
() 2008 (©) 2008
(d) 2000 (d) 2000
120. Which one of the following is not correctly 120. fr=ifaifaa # ¥ @17 ve wdl gifea =&
matched? 2?
(Place) (Districts of Uttar (@=m) (SR wew B
Pradesh) @)
(a) Bateshwar - Agra (a) TovaR e
(b) Deva Sharif - Jaunpur
(c) Sankisa - Farrukhabad ?c,)) é.‘“ﬁ i : I
(d) Bithoor - Kanpur @ faoy ) P EE@- 9T
Bl i T




